Friday 26" February 2021



The tens column in 10 times bigger than
the units.
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The hundreds column is_ 10 times
bigger than the tens.




1x10=10



20+-10=2



3 x10 =30






5x 10 =50



I can complete missing number calculations, I can complete 10 times table calculations.

10x___ =50 10x_—_=90 10x__ =40 0x10 =
10x__ =20 10x__=30 10x___ =100 1x10-=
10 x_ =100 10x_=0 2x10=
=40 10x__=70 3x10-=
10 x___ =30 10x __=10 4 x 10 =

10 x __=50 5x10-=
10x_=0 10x__ =80 10x__=80 6x10=__
10x__ =80 10x__ =60 10x__=40 7x10=___
10x— =10 10x—=10 10x__= 100 8x10=__
10x_—_ =60 10%x—=70 10x__ =60 9x10=___
10x_——=0  10x —=20 10x10=___




Play hit the button, x10.

https://www.topmarks.co.uk/maths-games/hit-
the-button



https://www.topmarks.co.uk/maths-games/hit-the-button

